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Choose the correct form of verb to fill in the blank.

The price of oranges rising in the market.
(1) are {(2)  have

(3) 1= (4) had

(1) 1
(2) 2
(3) 3
(4) 4

FreAfeiEa § #H-31 e -%Y HIG 27

(1)
(3)

Zrdt (2) it

g T

2=

(1) 1
(2 2
3) 3
(4) 4
1[Option ID=11201]
2[Option ID=11202]

3[Option ID=11203]
4[Option ID=11204]

e

(4) =
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From among the four options given. choose the most appropriate sequence for the four
phrases given below to make a meamingful sentence :

(A) wages were going to be cut and
(B) the workers were up in

(C) decided to go on strike

(D) arms when they heard that their

Choose the correct answer from the options given below:

(1) (D). (A).(C). (B)
(2) (B). (D). (A). (C)
(3) (C). (B). (D). (A)
(4) (A). (C). (B). (D)
(1) 1
(2) 2

(3) 3
(4) 4

Tt areT #1 StEa FER =afeE i

(A) 3 5E5E AT F (B) i T H
(C)  FwmEed (D) =

(E) uF3nugz =
(1) CEDBA (2) ABCDE
33 BCDEA (49 CDABE

1)1
(2) 2
3) 3
(4) 4
1[Option ID=11205]
2[Option ID=11206]

3[Option ID=11207]
4[Option ID=11208]
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Which two of the following words take ‘irregular’ verb forms?

(A) begin
(B) defy
(C) manage

(D) bite

Choose the correct answer from the options given below:

(1) (A) and (D) only
(2) (A) and (B) only
(3) (B) and (C) only
(4) (B) and (D) only
(1) 1
(2) 2

(3) 3
(4) 4

“Fq o Tea | W W e § 9 e giea B 27

(1) A (2) Tao=m=
(3) =Ha 4) Tz
1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=11209]
2[Option ID=11210]
3[Option ID=11211]
4[Option ID=11212]
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Match List I with Last IT :

Last I List IT
(word) (synonym)
(A) accolades (I) show
(B) desultory (II) honour
(C) evince (IIT) guess
(D) surmise (IV) aimless

Choose the correct answer from the options given below :

(1) {A)-(IV). (B)-(III). (C)-(II). (DH-(I}
(2) (A)-(I). (B)-(II). (C)-(IIL), (D)-(IV)
(3) (A)-(II), (B)-(IV). (C)(I). (D)-(IIT)
(4) (A)-(IIT). (B)-(I). (C)«(IV). (D)-(IL)

(1) 1
(2) 2
(3) 3
(4) 4

4= =t %A fon o 2 v st (Assertion (A) F T 4 TeArgd 2 A TE 3% #T0 (Reasons (R)
X

=T
AR (A) ‘I7 e 2 | "HHE Sa9E e H A 2
= (R) : HET FE9H F A HE H g F A w6 2

U YA F A 0, 9 5 T e 9 geE I S 6 =9 it

(1) (A =i (R) 7 =8t 2 570 (R), (A) Fi = == 2
(2) (A IR (R) FH T 7, A (R), (A) Fi TA =wen 165 2
(3) (A =F 7, = (R) 98 475 2
@ (AT T 2, 7= R) TE 2
(1) 1
(2) 2

(3) 3
(4) 4

1[Option ID=11213]
2[Option ID=11214]




3[Option ID=11215]
4[Option ID=11216]

Sl. No.5
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Pick out the correctly spelt word.
(1) twelth (2) twelfthe
(3) twelfth (4) towelfth

(1) 1
(2) 2
(3) 3
(4) 4

TA-1 % Ty 1 g1-11 e e

S 11T
@) =k O e
(B) 5= &1 o T a1 7 A A @
(C) TTaFmadgmAz (1) ==
(D) & ITEER FH A av) Fh
3 o o e § O T I w = i

(1) (A)-1D). (B)-(ID), (C)-(IID), (D)-(IV)
(2) (A)-(IV). (B)-(I1I). (C)-(II), (D)-(I)
(3)  (A)-ID), (B)-(D). (C)(ID). (D)-(IV)
(4)  (A)-IID. (B)-(I). (C)-(IV), (D)-(II)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11217]
2[Option ID=11218]

3[Option ID=11219]
4[Option ID=11220]
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“The peace talks between the Russia and Ukraine ended 1n a stalemate.”

From the following options pick the correct synonym of the word in italics.
(1) Agreement (2) Dilemma
(3) Impasse (4) Disagreement

(1) 1

(2) 2

3) 3
(4) 4

AfefEa § sfas F0F & 99 7
(A) 7wy, FEET T F

(B) i FH W R

(C)  amfeem, 99 el o 47

(D) =5 T FE 9E A

(E) 37 =1 91 UF FE T 7|

= 5o o fTwed ¥ | 5E I #1999 At
1) (A). B 3 (©)
2  (B).(C) #n (D)
(3)  (B). (C) ¥ (E)
@  (B). (D) N (E)

1)1
(2) 2
(3) 3
(4) 4
1[Option ID=11221]
2[Option ID=11222]

3[Option ID=11223]
4[Option ID=11224]
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Identify the correct direct speech of the following sentence.

Arshil said that he was very busy then.

(1) Arshil said. “He 1s very busy now.”
(2) Arshil told. “T am very busy now.”
(3) Arshil said. “You are very busy now.”
(4) Arshil said. “T am very busy now.”
(1) 1
(2) 2
(3) 3
4) 4

=z = Fo o #

FoA [ a9 519 § e s o s el Al 2

FeAI: O FSF @ Faal 2| FOE EE gU @ W vw e B
IEE FUA F AEF 4, A= 70 T T | O aed I 39w 99 F

(1) =99 [¥r Il = 981 7
(2)  F2F [ #R I aFA TTed =
(3) = =& 2, i e I 7Tea 2
(4) =¥ [ 7, oA %o [ ae 2

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11225]
2[Option ID=11226]

3[Option ID=11227]
4[Option ID=11228]
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Which of the following 1s a one-word substitute for "a person who 1s unsure about God's
existence 7

(1) Renegade

(2) Atheist

(3) Irreligious

(4) Agnostic

(1) 1
(2) 2
(3) 3
(4) 4

4= 71 FF 5 e E

FRI1: T H e gEE # e R - TE-Su § g9 G %GRl WH A

Fo| I1:  Traifa FaaEfa & a5 sfates #68 % 0Fa § ed a1d o9 5 9 590 F1 F07 75 2
I F9H F AT H, 49 70 T G § 9 Teh T8 39 6 999 Hie

(1) =@ I3 I gA o =

(2)  Fu [ ¥R I =1 99 2

(3)  #A [ & 2, wfFA F9A I 3797 =
(4)  wy [ @ 2, A wae [ a0 2

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11229]
2[Option ID=11230]

3[Option ID=11231]
4[Option ID=11232]
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Choose the correct passive voice of the following sentence.

I was waiting for the minister.

(1) The minister was being waited for by me.
(2) The minister was waited by me.
(3) The minister was waiting for me.
(4) The minister had been waiting.
(1) 1
(2) 2
(3) 3
(4) 4
A&  frEm
B) AR
(C) =
D)
(E) am
= fou o fawed § § w8 I #1999 e

(1)  F=4 (A), (B) # (C)
(2)  F== (B). (C) ¥ (D)
(3)  Fa= (B). (D) 1 (E)
@  Fad (C). (D) 31 (E)

1)1
(2) 2
3) 3
(4) 4
1[Option ID=11233]
2[Option ID=11234]

3[Option ID=11235]
4[Option ID=11236]
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Fill up the blank with the correct form of verb.

Neither food nor water available there.
(1) were

(2) will not be

(3) was

(4) have being

(1) 1
(2) 2
3) 3
(4) 4

HefAtEd § FF 5 AEds e e ag 7
(A)  EieE-FaEtas

(B)  @ifa=-THaTE

(C) TR

(D) =d-FEa

(E) =T 7w

J= fou o faweat 9 @ 99 3 # 99a A
(1)  F= (A), B) # (C)
(2) == (B). (C) #it (D)
(3)  F= (B). (D) i (E)
@  Fa= (C). (D) ¥ (E)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11237]
2[Option ID=11238]

3[Option ID=11239]
4[Option ID=11240]
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The notification declaring the minority communities / groups is done by :

(1) The Parliament
(2) The State Governments
(3) The Central Government
{4) Concurrently by State and Central Governments
(1) 1
(2) 2
3) 3
(4) 4
HETEETF TUEET| TRl I Hii6d B A SAgEaT B S w27
(1) =%
(2) T R
(3) o TR

(4) g 3N U5 TR g 9T9-TT

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=11241]
2[Option ID=11242]

3[Option ID=11243]
4[Option ID=11244]

Sl. No.12
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The first 1image of a black hole captured by Event Horizon Telescope (ETH) has been named
as :
(1) Stephen Hawking BH*AB (2y SYr*A
(3) Messier 87 (4) Eienstien Galaxy BH*88
1) 1
(2) 2

(3) 3
(4) 4

Ta=e BT feemia (ETH) g1 et For-faar (w04 &ie) & @9 1o vt wffems = @41 719 27

(1) =94 =% BH*AB (2) SYr*A
(3) A= 87 (4) FE=IH e BH=88

(1) 1




(2) 2
(3) 3
(4) 4
1[Option ID=11245]
2[Option ID=11246]

3[Option ID=11247]
4[Option ID=11248]

Sl. No.13
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The dance form which uses Jayadeva's Gita Govinda in an extensive manner 1s called :

(1) Kuchipudi (2) Chau
(3) Manipuri (4) Odiss1

(1) 1
(2) 2
(3) 3
(4) 4

SHed & Ma-TiEs 5 SE @ ° I W Gl AR el & a AW B 7

(1) @rﬂ\jél (2) B=
(3) =g (4) afifsHr

1)1
(2) 2
3) 3
4) 4
1[Option ID=11249]
2[Option ID=11250]

3[Option ID=11251]
4[Option ID=11252]

Sl. No.14
QBID:1007189

The celebration of National Press Day on November 16 in India was started by :

(1) Press Council of India

(2) Ministry of Information and Broadcasting
(3) United Nations

(4) National Press Club

(1) 1
(2) 2
(3) 3
(4) 4




16 == 1 TP W oA % w9 4 wE i IEe e = i ?

(4)

(1) 1
(2) 2
(3) 3
(4) 4

w9 g
Y UH T

1[Option ID=11253]
2[Option ID=11254]
3[Option ID=11255]
4[Option ID=11256]

SI. No.15

QBID:1007190

Shyam Benegal's Committee was set up in 2016 for :

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

clearing the backlog of films for certification
regulating the adult films
develop a strategy for promotion of children's films

laying down rules for film certification

2016 § 73719 ST Tiata e fow w4 T i ?

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=11257]
2[Option ID=11258]
3[Option ID=11259]
4[Option ID=11260]

Sl. No.16




QBID:1007191

If South - East becomes North - West then what will South - West become?

(1) North - West (2  South
(3) North (4) North - East

(1) 1
(2) 2
(3) 3
(4) 4

At gfem-qd se-afram & S A fm-afran w0 e

(1)  Sw-ufvam (2)  Tieo

(3) == (4) W

1)1
(2 2
3) 3
(4) 4
1[Option ID=11261]
2[Option ID=11262]

3[Option ID=11263]
4[Option ID=11264]

Sl. No.17
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In the question below statement and assumptions are given. Consider the statement and
choose the correct option from the following on the basis of the assumptions.
Statement :

Area welfare society requested the local administration to allow them for converting vacant
land 1nto vehicle parking area at their own cost.

Assumptions :
(1) The local authorities shall be happy to give permission.
(11) The welfare society shall be able to collect funds to convert the land into vehicle

parking area.
(1) Only (1) 1s 1implicit
(2) Only (11) 1s 1impheit
(3) Both (1) and (1) are implicit
(4) Neither (1) nor (11) 1s implicit

(1) 1
(2) 2
(3) 3




(4) 4

Hre fou o wee v A it g -uwe 4 T #| qd-arens % Aen W awed W faen Fife o F=
feu T fawedi § o @ fawey &1 =999 it

A

ofte detha wETEd A4 e yeeE 8@ e e 5w we wous gl wdiE w0 s i
It & S a3 5|

FERCHILILE

(1) T wAfyst sEEta S E)|

i) et SHE FTE-wE &7 aeer F o e g g -tE e | 9Em w56

(1) ae (i) I 2

(2) e (ii) - B

(3) oA (@ R (i) T Fea E

(4)  Far (1) T (11) T WEd 2

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11265]
2[Option ID=11266]

3[Option ID=11267]
4[Option ID=11268]

Sl. No.18
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Question below consists of a statement and two arguments. Decide which argument 1s strong
and which 1s a weak argument.

Statement :

Should ban on hunting of tigers in forests be lhifted?

Arguments :

Yes. the ban 1s not effective as tigers are still being killed.

No. the tigers will start roaming in the city.

(1) Only (1) 1s strong argument.

(2) Only (11) 1s strong argument.

(3) Neither (1) nor (11) are strong arguments,

(4) Both (1) and (11) are strong arguments.

(1) 1
(2) 2
(3) 3
(4) 4

F= o wes v aweT AR Gl a | o i T S T ad yee & o FE T e a2 v

T -
F1 991 1§ AT % (9RO Utdeeg 521 fear S = nEe ?
TF

(i) =, gfde-g TuEEmE A5 & FEih a o off 7w w #)
(i)  EI, a9 WEL § gEAT % o

(1)  =hae (i) Jot @ 2

(2)  FAA (i) &S TF 2l

(3) A4 (1) AT F (i) T qH =

(4)  TAT (1) 3R (i) T&A T B

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=11269]




2[Option ID=11270]
3[Option ID=11271]
4[Option ID=11272]

Sl. No.19
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Select a suitable figure from the answer.

Fizures that would replace the question mark (7).

Problem Figures :

Answer Figures :

O

P

Ol

(A)

(1)
(3) 3

(1) 1
(2) 2
(3) 3
(4) 4

{B)

(C)

(D)

<P

2y 2
4y 4

SR-FTHA § § U 3fa SHE F GAE Fiew S vErE® e (2) F wE o a6
T — SRR

I - AHfEE

(&) (B) (C) () (1) (2) (3) (4)
(1} 1 (2 2
(3) 3 (4 4
(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=11273]
2[Option ID=11274]
3[Option ID=11275]
4[Option ID=11276]

Sl. No.20
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Pointing towards Mary. John said ‘Only daughter of Father-in-law of her brother's mother 1s
my wife’. How 1s John related to Mary?

(1) Brother (2} Uncle
(3) Father {(4) Data Insufficient

(1) 1
(2) 2
(3) 3
(4) 4

T 1 AR T FAd g0 A A, | IEH H1E Hi W F TG H TRAA T A w7 | S w0 OEG F
T 27

(1)  wmE (2) =r=
(3)  fum (4) F=N A 2

1)1
(2) 2
(3) 3
(4) 4
1[Option ID=11277]
2[Option ID=11278]

3[Option ID=11279]
4[Option ID=11280]

Sl. No.21
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A shop stores x kg of rice. The first customer buys half this amount plus half a ke of rice. The
second customer buys half the remalning amount plus half a kg of rice. Then the third
customer also buvs half the remaining amount plus half a kg of rice. Thereafter, no rice 1s left

in the shop. Which of the following best describes the value of x?

(1) 2<x=<6 2y bH=x=<8§8
(3) D<x<12 4) 11<x<l4
(1) 1

(2) 2

(3) 3

(4) 4




UF GHE H Ae H x [ 95K 7| TEell WEd SH AT F Gl a9 S G =ee A e §) g
TTEF S g W S 94 el R weEe AR e 2| w0 aEs o st gt 9w s qen
s T =rEw 3R TiEa 21 39 W 5FE | F i 9ed T8 a9 2| 79 5§ o F 56 B aed w6
afefa =ar 27

(1) 2<x<B (2) bHB<x<8§
(3) O<x =12 (4) 11<x<li4
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=11281]
2[Option ID=11282]
3[Option ID=11283]
4[Option ID=11284]

Sl. No.22
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There are two circles of different radius such that radius of the smaller circle 1s two-fifth that
of the larger circle. A square whose area equals 5184 sq cm has 1ts side as thrice the radius of
the larger circle. What 1s the circumference of the smaller circle?

(1) 65.25 em (2y  60.34 cm

(3) 49.34 em (4) 5H4.253 cm

(1) 1
(2) 2
(3) 3
(4) 4

firm st At @ g B SR g A from w2 g9 B Bew W 2 A wm 3| v o fmw S
2}
5184 = =t 2 it Ton =2 g F B F A7 T R B I9 w0 afemy =Ry

(1) 65.25 OHi (2)  60.34 gt
(3) 49.34 oy (4) 54.23

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=11285]




2[Option ID=11286]
3[Option ID=11287]
4[Option ID=11288]

Sl. No.23
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Ramesh purchased a house worth Rs. 10.00,000 and Amrita purchased a car worth Rs.
16.00,000. The value of house every vear increases by 20% of the previous value and the value
of car depreciates every vear by 25%. What 1s the difference between the price of house and
car after 3 years?

(1) 10.63.000 (2) 10.53.000
(3) 10.43.000 (4) 11.53.000

(1) 1
(2) 2
(3) 3
(4) 4

o 3 =, 10.00.000 = TF =Y WG 99 39 4 % 16.00.000 1 wF FR @il | 9edE 99 = i
fimet ¢ F Fr T 20% wedt 2 ok ww H Fiva fed o B Fima w 25% T 2| 99 ad 5w
T HE hI FHAT B AT AT BT

(1)  10.63.000 (2) 10.53,000

(3)  10.43.000 (4) 11.53,000

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11289]
2[Option ID=11290]

3[Option ID=11291]
4[Option ID=11292]

Sl. No.24
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Vivek had % 23.000. He invested some amount in scheme A at SI at 20% and the remaining

amount in scheme B at CI at 10%. If Vivek got the same amount from both of them at the end
of one year, how much (in %) did he invest in scheme B?

(1) %, 12.000 (2) %. 13.000
(3) % 11.800 4y =. 12,600
(1) 1
(2) 2
(3) 3

(4) 4




faa® & o . 23.000 31 F69 F9 UE gREEET A H 20% WYR S W 9T 99 i gfiEse B d
10% =g == W a9 fFen 4t 59 F1 oF 99 515 2@ J=eT & g9e T G, 369 gt B
T TRt T F1 e T ?

(1) 3. 12,000 (2) *%.13.000

(3) % 11.800 (4) %. 12.500

1)1
(2) 2
3) 3
(4) 4
1[Option ID=11293]
2[Option ID=11294]

3[Option ID=11295]
4[Option ID=11296]

Sl. No.25
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Peter marks up all Jeans in his shop 20% higher. He gave 25% discount on 2/5™ of the total
Jeans and 12% discount on 1/4% of the total Jeans. If Peter gets an overall profit of 2.3%. then
what percentage of discount should be given by Peter to customers on the remaining Jeans?

(1) 10% (2y 2%
(3) 3% {(4) 5%
(1) 1
(2) 2

(3) 3
(4) 4

tﬁa:ﬂﬁlwﬁmﬁﬁﬂmfﬁtﬁnﬁzﬂ%maﬁm%lﬁrﬁﬁﬂm%gﬁﬁmm 25% e T
o

Weﬂm%ﬁiﬁﬂmm 12% $t gz 41| afg diex F1 1 A1 2.3% T9 BT 2| 99 99 G W AEF FH
fope wfoem it @z <t = =nfe ?

(1) 10% (2) 2%

(3) 3% 4 5H%

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11297]
2[Option ID=11298]

3[Option ID=11299]
4[Option ID=11300]

Sl. No.26
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Which among the following is the ‘Greek’ word meaning Actor?

(1) Hypokrites (2) Dithyramb
(3) Dionysian (4) Choregus

(1) 1
(2) 2
(3) 3
(4) 4

= fom o’ sl | e o afie @7

(1)  esdwEed (2) fedfia
(3)  sEHiEE (4) o
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=11901]
2[Option ID=11902]
3[Option ID=11903]
4[Option ID=11904]

Sl. No.27
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Which among the following is NOT one of the six elements of Tragedy according to Aristotle’s
POETICS™?

(1) Character (2) Plot

(3) Music (4) Intonation

(1) 1
(2) 2
(3) 3
(4) 4

T F FEANRA  FFAR FEAiEd § 8 S T9E F S dodl H§ § UF A4 27
(1) = (2) U=
(3) @A (4) EET=Srelt /e

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11905]
2[Option ID=11906]

3[Option ID=11907]
4[Option ID=11908]

Sl. No.28




QBID:1075003

Originally, a play performed from the gallery of a manor house during a banquet in
Elizabethan times —

(1) Morality play (2) Drame

(3) Interlude {4) Libretto

(1) 1
(2) 2

(3) 3

(4) 4

qea:, ufaemsy % g0 | fiftwrs & e feft arf-sw 6t dat 3 wwga e 9@ 9= e = o
FEd 47

(1)  Hifa-Tes (2) fodiege g (39)

(3) W (4)  fiegfee

(1) 1
(2 2

3) 3

(4) 4

1[Option ID=11909]
2[Option ID=11910]

3[Option ID=11911]
4[Option ID=11912]

Sl. No.29
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The alleyway running between two houses representing a street scene in Roman comedy is
referred to as:

(1) Angiportum (2) Antagonist
(3) Apron (4) Buskin

(1) 1
(2) 2
3) 3
(4) 4

T FE) § T5F F1 594 foEH & T W 31 90 & o9 9 arelt Teft F T i w Fad 21
(1)  uf=mreEs (2) e
(3) THTed (4) =fewa

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=11913]




2[Option ID=11914]
3[Option ID=11915]
4[Option ID=11916]

Sl. No.30
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The discovery or recognition scene, an important element of Greek classical drama is called:

(1) Anachronism (2) Anagnorisis

(3) Antistrophe (4) Anti-masque

(1) 1
(2) 2
(3) 3
(4) 4

AT T AEF F UF HEvUl acd, S A1 AGTE 799 0 Fad 27

(1) =N (TRsH) (2) weAtaEE (TATETiE)
(3) Rt (veers) (4) DgEaT vEERE (T W)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11917]
2[Option ID=11918]

3[Option ID=11919]
4[Option ID=11920]

Sl. No.31
QBID:1075006

The play ‘Amrita-Manthana' can be classified as a:
(1) Vithi (2) Dima
(3) MNataka (4) Samavakara

(1) 1
(2) 2
(3) 3
(4) 4

‘sma-we AeF i 5 w7 7 @ffma e o awar ® -
(1) =freft (2)

(3) e (4) HHIE

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=11921]




2[Option ID=11922]
3[Option ID=11923]
4[Option ID=11924]

Sl. No.32
QBID:1075007

According to Natyashastra, the stages in the development of the plot are called:

(1) Artha-prakritis (2) Sandhis
(3) Arthopakshepaka (4) Avasthas

(1) 1

(2) 2

(3) 3

(4) 4
ATZHMER % FJEN, FAFF * [FFE & SO0 H T FEd £ 7
(1)  =d-uzfa (2) =f4
(3)  =A4i9ET (4) =

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=11925]

2[Option ID=11926]

3[Option ID=11927]
4[Option ID=11928]

Sl. No.33
QBID:1075008

The terminology used in Natyashastra for the ‘PLOT'

(1) Kathanak (2) Prasangika
(3 Iti-vrtta (4) Prasanga

(1) 1
(2) 2
(3) 3
(4) 4

Tz | ete’ & o wmarfontydt v g8 20
(1)  =IF (2) wafH
(3 e (4) wam

1)1
(2) 2
3) 3
(4) 4

1[Option ID=11929]




2[Option ID=11930]
3[Option ID=11931]
4[Option ID=11932]

Sl. No.34
QBID:1075009

Trace/Pick the odd one out:

(1) Avanti (2) Audramagadhi
(3) Panchalamadhvama (4) Awvahittha

(1) 1
(2) 2
(3) 3
(4) 4

faferfiaa & & v w=g =@mEu)
(1) sat= (2) witgmmd

(3) TSI (4) waEfaeg

(1) 1
(2) 2

(3) 3

(4) 4

1[Option ID=11933]
2[Option ID=11934]

3[Option ID=11935]
4[Option ID=11936]

Sl. No.35
QBID:1075010

Trace/Pick the odd one out:

(1) Bharati (2) Goshthi
(3) Arabhati (4) Sattvati

(1) 1
(2) 2
(3) 3
(4) 4

FefeTEs ogs § 96w Te; FH 27

[al

(1) g (2) T

~

(3) AT (4) @l
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=11937]




2[Option ID=11938]
3[Option ID=11939]
4[Option ID=11940]

Sl. No.36
QBID:1075011

Which of the following is NOT a form of Oral tradition, involved in the performance of Epics?

(1) Ankia Nat (2) Wari Liba
(3) Ojhapali (4) Pala

1) 1
(2) 2
3) 3
4) 4

FEEd § 9 4 G5l % UeE § A Ai0ET TN F UF = A5 2 7

(1) AT 2 (2) = o

.

(3)  smmEd (4) Tren
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11941]
2[Option ID=11942]

3[Option ID=11943]
4[Option ID=11944]

Sl. No.37
QBID:1075012

According to Natvashastra, which 1s composed of swara (notes). tala (fime-measure). pada
(words) and 1= played with different instruments 1s called:

(1) Nandi Patha {(2) Dhruva Songs
(3) Nvasa (4) Gandharva Music

(1) 1
(2) 2
(3) 3
(4) 4

Feffgs ¥ ¥ F5 A=A F UsTH H T HIE® WER F UF B9 95 8 7

(1) ST =2 (2) = e

o

(3) ATz (4) =

(1) 1
(2) 2
3) 3
(4) 4




1[Option ID=11945]
2[Option ID=11946]
3[Option ID=11947]
4[Option ID=11948]

Sl. No.38
QBID:1075013

The Book ‘Brecht, a choice of evils' is written by:

(1) Michael Patterson

(3)

(2)
(4)

Martin Esslin

(1) 1
(2) 2
(3) 3
(4) 4

"I U SATEE AT 3EeE | AW T e fert 27

(1)  WEHa Gedq (2)
(3)  wiféq wEfem (4)
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=11949]
2[Option ID=11950]
3[Option ID=11951]
4[Option ID=11952]

Ernest Bornemann
John Willet

W AFEAE
9 faeie

Sl. No.39
QBID:1075014

For whom among the following, “The purpose of drama was to teach us how to survive.

Instead of audiences feeling, they were to think’

(1) KE.S. Stanislavski (2)
(3) Max Reinhardt (4)
(1) 1
(2) 2
(3) 3
(4) 4

fe=tictiaa § o fFee w1 o1 &6, ‘e 1 Seva 7% fommn o 6 6 THeg TR 9 ST B 6 TE W

T H ;AT AL

(1) . T, ==
(3) e e

(1) 1

?

Bertolt Brecht
Michael Chekhov

(2) =A==

(4) TEHA 9Ed




(2) 2
(3) 3
(4) 4
1[Option ID=11953]
2[Option ID=11954]

3[Option ID=11955]
4[Option ID=11956]

Sl. No.40
QBID:1075015

“Every punctuation mark has its own intonation. Treasure the spoken word”. Who said this?

(1) Stanislavski (2) Anton Chekhov
(3) Susan Foster (4) Bertolt Brecht

(1) 1
(2) 2
(3) 3
(4) 4

‘g Tt i ot EEiEl B ) S Y 9e5) 1 SeEETed g9isel’ - 98 T w917

(1)  wfEesmh (2) U=H =Ed
(3) 9 BRH (4) wled siEa

1)1
(2 2
3) 3
(4) 4
1[Option ID=11957]
2[Option ID=11958]

3[Option ID=11959]
4[Option ID=11960]

Sl. No.41
QBID:1075016

Match List I with List 11 ;

List I List I1
(A) Public Solitude and Sub-conscious creativity (I} Bertolt Brecht
{(B) Bio-Mechanics and Constructivism (ITy Stanislavski
(C) Alienation and Acting in quotation marks (IIT) Grotowski
(D) Poor theatre and Holy Actor (IV) Meyerhold

Choose the correct answer from the options given below :

(1) (A)-(ID), (B)-(IV), (C)-(I), (D)-(I1T)
(2) (A)-(IV), (B)-(ID), (C)-(IIT), (D)-(T)
(3) (A)-(IID, (B)-(D), (C)-(IV), (D)-(1T)
(4) (A)-(ID), (B)-(ILD), (C)-(IV), (D)-(T)




(1) 1

(2) 2
(3) 3
(4) 4
T=1-1 % = g=-I1 1 faem =ifo
g1 Ei-11
(A) TEEF THEHTE AR dEEa geeeea (D) Sdted s
(B) SA-=EEH AR HiHEEs (IT) T
(C) H=THE AR Sgo-Tedl 3 Aty (IIT) Trar==hi
(D) TAe former 37 ufea wfaa (IV) HoEes
= 120 TU faeT 4 O WE 39 1 =9 HIe
(1) (A)-(IT). (B)-(IV). (C)-(T). (D)-(TIT)
(2) (A)-(IV). (B)-(IT). (C)-(11I). (D)-(I)
(3) (A)-(ITIT). (B)-(D). (C)-(IV). (D)-(IT)
(4) (A)-(II). (B)-(III). (C)-(IV). (D)-(I)
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11961]
2[Option ID=11962]
3[Option ID=11963]
4[Option ID=11964]
Sl. No.42
QBID:1075017
Match List I with List IT :
List I Last II
(A) Yakshagana (I) Madhya Pradesh
(B) EKudivattam (II) Karnataka
(Cy Maanch (III) Tamilnadu
(D) Terukuttu (IV) Eerala

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A)-(IV). (B)-(IID). (C)-(I). (D)-(IT)
(A)-(ITL). (B)«(IV). (C)-(ID). (D)-(I)
(A)-(IT). (B)-(IV). (C)-(D). (DH-(IIL)
(A)-(IV). (B)-(II). (C)-(III). (D)-(I)




(1) 1
(2) 2
(3) 3
(4) 4

-1 % W G-I F1 faem Fifaw

=11 T=1-11
(A) =ETH (I) \eATeT
(B) Fi=wezm ID) =
(C) wm= (IID) FrEeATS
(D) TFF (IV) ==
Hi9 fou v el 4§ wE I # =Ed At

(1) (A)-(IV). (B)-(IID). (C)-(I). (D)-(IT)
(2) (A)-(ITI). (B)-(IV). (C)-(IL). (D)-(I)
(3) (A)-(II). (B)-(IV). (C)-(I). (D)-(III)
(4) {A)-(IV). (B)-(II). (C)-(III). (D)-(I)
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=11965]

2[Option ID=11966]

3[Option ID=11967]
4[Option ID=11968]

Sl. No.43
QBID:1075018

Match List T with List IT :

Last I Last IT
{4) Adhe Adhure () Girish Karnad
(B) Hayavadana (II) Dharamvir Bharati
(C) Andha Yug (III) Adya Rangacharya

(D) Suno Janmejayva (IV) Mohan Rakesh

Choose the correct answer from the options given below :

(1) (A)-(ID). (B)-(IIL). (C)~(I). (D)-(IV)
(2) (A)-(IV). (B)-(I). (C)-(III). (D)-(II)
(3) (A)-(II). (B)-(1IL). (C)-(IV). (D)-(I)
(4) (A)-(IV). (B)-(I). (C)-(II). (D)-(III)




(1) 1
(2) 2
(3) 3
(4) 4

FH1-1 % = g=-I1 1 THem Fifaw

i1 11T
(A)  =Td-3T () i Frs
(B) =Hac (I) o= et
(C) zramm (IIT) = =
(D) A T (IV) =T e

/= fou U el 5 ° "R 39 T =99 i

(1) (A)-(ID). (B)-(IIL). (C)~(I). (D)-(IV)
(2) (A)-(IV). (B)-(I). (C)-(I1I). (D)-(IT)
(3) (A)-(IT). (B)-(III), (C)-(IV). (D)-(I)
(4) (A)-(IV). (B)-(I). (C)-(II). (D)-(III)

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11969]
2[Option ID=11970]

3[Option ID=11971]
4[Option ID=11972]

Sl. No.44
QBID:1075019

Match List I with List IT :
List I List I1
(A) Uttapati-Upchitivada {I) Shri Shankuka
(B) Anumiti-Anukrutivada (I) Bhatta Nayaka
(C) Bhavkatva and Bhogavada (III) Abhinavagupta
(D)  Alaukika Pratiti-Samvittivada (IV) Bhatta Lollata

Choose the correct answer from the options given below :

(1) (A)-(D, (B)-(1I), (C)-(11I), (D)-(IV)
(2) (A)-(I1), (B)-(ILI), (C)-(IV), (D)-(I)
(3) (A)-(IID), (B)-(IV), (C)-(T), (D)-(1T)
(4) (A)-(IV), (B)-(I), (C)-(ID), (D)~(111)

(1) 1




(2) 2

(3) 3
(4) 4
Ter-1% w1 75311 =1 e fifsw
TAt-T 1T
(A) It - Iufafaer (O ot s
(B) AMfd - sypiam (I) +ez =
(C) wEHed 3 H9rEE (1) sAfoaT=
(D) weitfereh wefifer ~ wfafean (IV) #ee dieema
= fou mu fomedi # & @t 3T = 9= HIf

(1) (A)-(D), (B)-(II), (C)-(11I), (D)-(IV)
(2) (A)-(I), (B)-(III), (C)~(IV), (D)-(D)
(3) (A)-(III), (B)-(IV), (C)-(I), (D)-(1I)
(4) (A)-(IV), (B)-(I), (C)-(IT), (D)~(I1T)

(1)
(2)
(3)
(4)

P W N =

1[Option ID=11973]
2[Option ID=11974]
3[Option ID=11975]
4[Option ID=11976]

Sl. No.45
QBID:1075020

Given below are two statements :

Statement [ :  Stanislavski said, “The Method of Physical actions is the result of my
whole life's work”

Statement [1 : The Stanislavski terms “Conscious” and “Subconscious”™ are really
“Controlled” and “Uncontrolled”.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement 11 is incorrect
(4) Statement [ is incorrect but Statement 11 is correct
(1) 1
(2) 2
(3) 3
(4) 4




4= 71 e T E

FoA [:  TrHEeeEh A A, ditas e Fi f@tg 1@ SiEa $ w1 oo 2

FoA I1:  weenashl $i " o CweEewd ) @ wemEe w1 owd anad § OfEEm @R
nn'._ i 'J':‘.!! ﬁ_%1

U YA F A 0, A 5 0 e § 9 ged S SH 1 99 i

(1) =FHEIFRIITAITFE &

(2)  wF IR ILSH 9 &

(3) = [o9cF &, o %99 I 999 =
(4) FE [ 3w 2, o Fa [ a0 7

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11977]
2[Option ID=11978]

3[Option ID=11979]
4[Option ID=11980]

Sl. No.46
QBID:1075021

Given below are two statements :

Statement [ :  According to Plato, art is simply an imitation of material object of sense.
Statement I1 :  Plato condemned art as it is simply an imitation, hence unreal and of no
use.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement IT are correct
(2) Both Statement I and Statement I1 are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement 11 is correct
(1) 1
(2) 2
(3) 3

(4) 4




f= = wem few T E

FoA[: T & AR, Hell = i Hias Sl 1 ATE 9 2

Fo[ [1: w21  Fel F1 God=1 Fil F10F 98 UF 3 06 7, S0 FanaEs #37 J9@0 2
SR FUF F A H, A= 50 0 e § H geE S0 S R 99 I

(1) =¥ 3R [l A 979 &

(2) = IR I oHl %9 2

(3) woa 1Hem 2, A #9911 59 2

@) T 1o 7, A e A 2

1)1
(2) 2
3) 3
(4) 4
1[Option ID=11981]
2[Option ID=11982]

3[Option ID=11983]
4[Option ID=11984]

Sl. No.47
QBID:1075022

Given below are two statements :

Statement [ : According to Plato, art is simply an imitation of material object of sense.
Statement [I :  Plato condemned art as it is simply an imitation, hence unreal and of no
use.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I1 are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
i(4) Statement I is incorrect but Statement 11 1s correct
(1) 1
(2) 2
(3) 3

(4) 4




SRR R
Fo [ WTEH SRl % WIEN, | UHl FiE Fel TAl 7, B T8 8, I 99 2, 0 96 8, G A e
A1 °§ A1 9E At w7l

Fo L "o fogrea % e, 707 @ 0 9 & Bl 2 o et o i e v ad sitfo
TSI R T W e 2

SHIE YA F A °, A4 5 T el § ¥ ged 39 3 R 59 A

(1) FEIakIIzA a3

(2)  FoF 1R I ZA 5989 2

(3) = [Hea 2, it %A I 31809 2

(4)  FoA I 9 2, S wud [ H 2
(1) 1
(2 2
3) 3
(4) 4
1[Option ID=11985]
2[Option ID=11986]

3[Option ID=11987]
4[Option ID=11988]

Sl. No.48
QBID:1075023

Given below are two statements : One is labelled as Assertion A and the other is labelled as
Reason R.

Assertion (A):  The experience of Rasa as described in Natyashastra is not a mystical
experience of sudden revelation.

Reason (R) : It is much more a slow, unfolding, a gradual manifestation, a growth
through phases.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

i(4) (A) is not correct but (R) is correct

(1)1
(2) 2
3) 3
(4) 4




F= 71 FoF o T E : uF Af9FeA (Assertion (A)) F ¥4 1 fAfEa 2 & 750 TF FEW (Reason (R))
FETH

AqFT (A) : TZAA ¥ U T GUH F IEAT W F NS W SEEEE T H e A
T 2
e 5o . r i i — + B r 3
F10 (R) : TE UF HATF GH, Al 55, HEF AT Td, TF =00 9 761 537 T84 7

ST Fo F T A, i fw e e § & wes s e A
(1)  (A) #i (R) 51 @&l & 3T (R), (A) i =& =awen 2

(2)  (A) 3 (R) 5F1 T8 B, ot (R), (A) Fi = =wen 76 2

(3) (A TFEI 7, & (R) 951 771 7

@ AT, A ® TR

1)1
(2) 2
3) 3
(4) 4
1[Option ID=11989]
2[Option ID=11990]

3[Option ID=11991]
4[Option ID=11992]

Sl. No.49
QBID:1075024

Given below are two statements : One 1s labelled as Assertion A and the other iz labelled as
Reason K.

Assertion (A): It was believed that the full religious and philosophical import of the
Bhagvatpuran could be revealed only by music, dance and abinaya.

Reason (R) : This played an important role in the evolution and development of the Epic
drama.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

(1) 1
(2) 2
(3) 3
(4) 4




= 71 FuA o T E : uF Af9FeA (Assertion (A)) F ®W T @A 2 A1 780 HH FE0 (Reason (R))
HETH

HAqeF (A) : FF Tavam B S @1 6 IEagu % ge aidE AR SEiE Gacd 1 e e
Tfi, JoT A% S 1 A A o 2

FE0 (R):  SHA HEFRTACF 124 o 9 (9@ 370 9iadq § TF Seeagl i |

IYE FYA F A 0, 4 50 0 w4 9 5ed S 39 0 99 Hia
(1) (A) IR (R)5F =& 2 311 (R), (A) =i 78 =men 2

(2)  (A) 3R (R) ZF1 T2 2, & (R), (A) F1 981 =men 98 2

(3) (A=A E, = (R) 98 76 2

(4) (A =E T R, W@ (R) TR 2

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11993]
2[Option ID=11994]

3[Option ID=11995]
4[Option ID=11996]

Sl. No.50
QBID:1075025

Given below are two statements : One i1s labelled as Assertion A and the other is labelled as
Reason R.

Assertion (A):  K.N. Pannikar follows Abhinavagupta in refering to the Actor-in-character
as a ‘Katha Patram’ (Katha means story and Patram means vessel or pot)

Reason (R) : The actor and character are not one of the same — one is a vehicle for the
other.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(1) (A) is not correct but (R) is correct

(1)
(2)
(3)
(4)

A W N =




= o1 FoF fow T ;v AHUE (Assertion (A)) F =9 7 fAfEm 2 @ 550 395 FAW (Reason (R))

AFT (A) : F.09. 9V § =GRT § AT # FA-UEE F &Y 1 Sfedigd Fid @9 ST
FHE o 21 (Fe F1 A9 FEE 2 9 une F 9 a9 91 9 2))

FOI(R): A A S HY A W e A S T E - e gi T A 2

IHIF FUA F AAF °, A= 50 0 e § 6 wed S S R =99 A
(1) (A) R (R) 5H &8 7 #° R), (A) Fi =@ =men 2

(2)  (A) 3R R) IH T 7, A (R), (A) F o8 =men 75 2

(3) (AT 2, FFE (R) 7 T 2

4) (A THTEE, |9 Ry R 2
(1) 1
(2) 2

3) 3
(4) 4

1[Option ID=11997]
2[Option ID=11998]
3[Option ID=11999]
4[Option ID=12000]

Sl. No.51
QBID:1075026




Read the following passage and answer the questions that follows:

The State and the Arts: As much as I dislike having to say so. I personally would eliminate all
federal funding of the arts. For. despite its benevolent intentions. the government does not
know how to play the role of patron. Let’s face it: bureaucrats cannot help but commission
mediocre work, and their stayving away from the world of the arts undoubtedly would 1mprove
matters. making possible something of a renaissance in music, painting. poetry and the
others arts. That at least 1s my hope. It 1= necessary to distinguish between patronage and
encouragement 1n this context: The government should encourage artistic expression by all
means — and by “encourage”. I mean. provide subsidies to librares. reduce the post rates.
change the tax laws. be generous with the funding of art schools. These are the kinds of
things that we may reasonably expect of a government to manage properly. This kind of
involvement on the part of the state takes its roots from the traditional American notion that
enlargement of learning and expansion of knowledge are beneficial to the nation. The more
books the citizens read. the better for the country: the more discussion in the marketplace.
the better for the republic. I believe in that: I believe that government can help. It 1s when the
government gets involved in the business of patronage that I am not very impressed. The
United States Government traditionally has been 1n the business of patronizing architecture.
and all one has to do 1s to go to Washington and lock around to understand the usual level of
mediocrity.

US4 Ud Fel : g3 A% FEAl GGG A 2 % H SAFd 7 W wens & gl Fdem oEva wem) swEs
7 : IR AE T F STl FIE AaE Tal B A 917 3 Tl ST H GF TEAl HeEd A 3 e
# gaw @, T wia, G, Fm v a= e § g S ety @ w0 5 a=iE w8
FH TA 2| 3@ HEY 0 AW UH WA & 99T 4% F1 SEvSE 2 BURR B g @A gE FeE
T, . FAL 9 TiEe, Fen e & e A smre ® 21 3 3 = 2, w9 T ontae e o
TN W TG FUHT R 2| 759 H AT ° 59 TR i AUiEE F 9o | 98 9ni ik g 2
St siferm % afad s TR % A ¥ = A we ¥ fow aawg 21 Awfen T sfos e e, = E
IS Bl U i e e L e A e i P b e et e e T e ol o B =
AT 2 T TR THE HEEE w 9dl 2| 9 WERE TEW o HE H AfEied wl ¢ dl 3599 8 sad T
TE FN E| SR AT aahe % W FE § ARGeh € H Hed W 2; H ) oA F g 7m

The writer is against the federal funding of the arts because

(1) It does not have any benevolent intentions.
(2) The bureaucrats know how to select the best.
(3) The bureaucrats never know how to select the best.

(4) He dislikes having to say so.

(1) 1
(2) 2
(3) 3
(4) 4




aEE Fell & gurg A & e @ =it

(1) S5 I3 HEHE AE T& & 2l

(2)  AtAEnE 9 E 6 whaes w0 999 5 % Bl

(3) e w4 TE I TF gdEs w1 = 5 S 2
(4) 97 TE FE A THE TE A 2

1)1
(2 2
3) 3
(4) 4
1[Option ID=12001]
2[Option ID=12002]

3[Option ID=12003]
4[Option ID=12004]
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Read the following passage and answer the questions that follows:

The State and the Arts: As much as I dislike having to say so. I personally would eliminate all
federal funding of the arts. For. despite its benevolent intentions. the government does not
know how to play the role of patron. Let’s face it: bureaucrats cannot help but commission
mediocre work, and their stayving away from the world of the arts undoubtedly would 1mprove
matters. making possible something of a renaissance in music, painting. poetry and the
others arts. That at least 1s my hope. It 1= necessary to distinguish between patronage and
encouragement 1n this context: The government should encourage artistic expression by all
means — and by “encourage”. I mean. provide subsidies to librares. reduce the post rates.
change the tax laws. be generous with the funding of art schools. These are the kinds of
things that we may reasonably expect of a government to manage properly. This kind of
involvement on the part of the state takes its roots from the traditional American notion that
enlargement of learning and expansion of knowledge are beneficial to the nation. The more
books the citizens read. the better for the country: the more discussion in the marketplace.
the better for the republic. I believe in that: I believe that government can help. It 1s when the
government gets involved in the business of patronage that I am not very impressed. The
United States Government traditionally has been 1n the business of patronizing architecture.
and all one has to do 1s to go to Washington and lock around to understand the usual level of
mediocrity.

7 : IR AE T F STl FIE AaE Tal B A 917 3 Tl ST H GF TEAl HeEd A 3 e
| guw o, TS g, 9te, wEd v o= wendAl § e S5 fEala gy wwi w2i sufig w5y o
TG TE 2| TH UEd U WU U UieHTEA % BET UF F SEvEE 2 o OO R O Tl g welead
AT F TICEET o1 TR - T CWiRETEA H W WA ; Pkl i "eEsl T A, 39w
HZH, T HEA § AHE, e el & SaEE | I5Ea " 2 T F = 7, 79 5 g wed F o
TOFT H FHEATA AUAT F TR 2| T H A T 58 TRE S GEH] * g ° 98 TRATE FER g E
S AT % UiEEA H TE F UEE 6 B A T % o0 ST 2| AR e siias gees 18, 59 %
IS Bl U i e e L e A e i P b e et e e T e ol o B =
AT 2 T TR THE HEEE w 9dl 2| 9 WERE TEW o HE H AfEied wl ¢ dl 3599 8 sad T
Al =1 7| S T aRGEel F WA F § THAiE ¥ H Hod T 2 6 H1 s34 # 95 18

What the government cannot do is to

(1) support the arts in general terms

(2) reduce the postal rates and change the tax laws
(3) distinguish between encouragement and dictating
(4) provide a lot of money for art schools

1)1

(2) 2

3) 3

(4) 4




TUEN Al T8 L Al ¢ 98 et S H F= g

(1) =79 951 H whell &1 THLT HEAT

(2) Sk oA I 92T S L FEAT H GG H
(3)  WivEEd #N #ew & =g uHE &

(4) e faEEl | AcEtas 99 9EH FA

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=12005]
2[Option ID=12006]

3[Option ID=12007]
4[Option ID=12008]
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Read the following passage and answer the questions that follows:

The State and the Arts: As much as I dislike having to say so. I personally would eliminate all
federal funding of the arts. For. despite its benevolent intentions. the government does not
know how to play the role of patron. Let’s face it: bureaucrats cannot help but commission
mediocre work, and their stayving away from the world of the arts undoubtedly would 1mprove
matters. making possible something of a renaissance in music, painting. poetry and the
others arts. That at least 1s my hope. It 1= necessary to distinguish between patronage and
encouragement 1n this context: The government should encourage artistic expression by all
means — and by “encourage”. I mean. provide subsidies to libraries. reduce the post rates.
change the tax laws. be generous with the funding of art schools. These are the kinds of
things that we may reasonably expect of a government to manage properly. This kind of
involvement on the part of the state takes its roots from the traditional American notion that
enlargement of learning and expansion of knowledge are beneficial to the nation. The more
books the citizens read. the better for the country: the more discussion in the marketplace.
the better for the republic. I believe in that: I believe that government can help. It 1s when the
government gets involved in the business of patronage that I am not very impressed. The
United States Government traditionally has been 1n the business of patronizing architecture.
and all one has to do 1s to go to Washington and lock around to understand the usual level of
mediocrity.

US4 Ud Fel : g3 A% FEAl GGG A 2 % H SAFd 7 W wens & gl Fdem oEva wem) swEs
7 : IR AEE T F STl FIE HaE Tal B A 917 3 Tl ST H GF TEAT HeEd 2 3 e
# gaw @, T wia, G, Fm v a= e § g S ety @ w0 5 a=iE w8
FH TE 2| 3@ S U WEY UL UIcHTET % BEA U HT SAEYEE 2 GORR R O @Al gRI Feead
T, . FAL 9 TiEe, Fen e & e A smre ® 21 3 3 = 2, w9 T ontae e o
TN W TG FUHT R 2| 759 H AT ° 59 TR i AUiEE F 9o | 98 9ni ik g 2
St siferm % afad s TR % A ¥ = A we ¥ fow aawg 21 Awfen T sfos e e, = E
IS Bl U i e e L e A e i P b e et e e T e ol o B =
AT 2 T TR THE HEEE w 9dl 2| 9 WERE TEW o HE H AfEied wl ¢ dl 3599 8 sad T
TE FN E| SR AT aahe % W FE § ARGeh € H Hed W 2; H ) oA F g 7m

The writer notes that the traditional American notion is that

(1) the government should not get involved in educational matters
(2) the people would rather read books than get involved in market place discussions
(3) the expansion of knowledge is good for the prices in the market

(4) it is a good thing that the people should be better educated

(1) 1
(2) 2
(3) 3
(4) 4




HEF T8 Hehd A1 & T IR SHiEh gwon 8

(4)

(1) 1
(2) 2
3) 3
(4) 4

TrET i e e § afefad T8 @ i)

T i SR afEEt § et 29 i a9 T 9ol Sianl
FH F FER AR | I & A0 oT=s 7 gl

TE UF =91 A ¢ 16 A GETied g =g

1[Option ID=12009]
2[Option ID=12010]
3[Option ID=12011]
4[Option ID=12012]
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Read the following passage and answer the questions that follows:

The State and the Arts: As much as I dislike having to say so. I personally would eliminate all
federal funding of the arts. For. despite its benevolent intentions. the government does not
know how to play the role of patron. Let’s face it: bureaucrats cannot help but commission
mediocre work, and their stayving away from the world of the arts undoubtedly would 1mprove
matters. making possible something of a renaissance in music, painting. poetry and the
others arts. That at least 1s my hope. It 1= necessary to distinguish between patronage and
encouragement 1n this context: The government should encourage artistic expression by all
means — and by “encourage”. I mean. provide subsidies to libraries. reduce the post rates.
change the tax laws. be generous with the funding of art schools. These are the kinds of
things that we may reasonably expect of a government to manage properly. This kind of
involvement on the part of the state takes its roots from the traditional American notion that
enlargement of learning and expansion of knowledge are beneficial to the nation. The more
books the citizens read. the better for the country: the more discussion in the marketplace.
the better for the republic. I believe in that: I believe that government can help. It 1s when the
government gets involved in the business of patronage that I am not very impressed. The
United States Government traditionally has been 1n the business of patronizing architecture.
and all one has to do 1s to go to Washington and lock around to understand the usual level of
mediocrity.

US4 Ud Fel : g3 A% FEAl GGG A 2 % H SAFd 7 W wens & gl Fdem oEva wem) swEs
7 : IR AEE T F STl FIE HaE Tal B A 917 3 Tl ST H GF TEAT HeEd 2 3 e
# gaw @, T wia, G, Fm v a= e § g S ety @ w0 5 a=iE w8
FH TE 2| 3@ S U WEY UL UIcHTET % BEA U HT SAEYEE 2 GORR R O @Al gRI Feead
T, . FAL 9 TiEe, Fen e & e A smre ® 21 3 3 = 2, w9 T ontae e o
TN W TG FUHT R 2| 759 H AT ° 59 TR i AUiEE F 9o | 98 9ni ik g 2
St siferm % afad s TR % A ¥ = A we ¥ fow aawg 21 Awfen T sfos e e, = E
IS Bl U i e e L e A e i P b e et e e T e ol o B =
AT 2 T TR THE HEEE w 9dl 2| 9 WERE TEW o HE H AfEied wl ¢ dl 3599 8 sad T
TE FN E| SR AT aahe % W FE § ARGeh € H Hed W 2; H ) oA F g 7m

The writer thinks that,

(1) there are beautiful buildings all over Washington

(2) the government should not provide financial support for the arts
(3) the government should not see itself in a position to pick and choose when it comes to
matters of artistic expansion
{4) architecture has been paid no attention to by the government
(1) 1
(2) 2
3) 3

(4) 4




g & fEn g .

(1)  =&& I § g5 99 21

(2) TR H FEASA & (o0 & TEE TE g Fw aiE

(3) = 9T HeneHE AT & wEel F @ a9 GER H 36 994 6 el F v d 96 2w il
(1) TN G TI9eT T HIE S T 2

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=12013]

2[Option ID=12014]

3[Option ID=12015]
4[Option ID=12016]
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Read the following passage and answer the questions that follows:

The State and the Arts: As much as I dislike having to say so. I personally would eliminate all
federal funding of the arts. For. despite its benevolent intentions. the government does not
know how to play the role of patron. Let’s face it: bureaucrats cannot help but commission
mediocre work, and their stayving away from the world of the arts undoubtedly would 1mprove
matters. making possible something of a renaissance in music, painting. poetry and the
others arts. That at least 1s my hope. It 1= necessary to distinguish between patronage and
encouragement 1n this context: The government should encourage artistic expression by all
means — and by “encourage”. I mean. provide subsidies to libraries. reduce the post rates.
change the tax laws. be generous with the funding of art schools. These are the kinds of
things that we may reasonably expect of a government to manage properly. This kind of
involvement on the part of the state takes its roots from the traditional American notion that
enlargement of learning and expansion of knowledge are beneficial to the nation. The more
books the citizens read. the better for the country: the more discussion in the marketplace.
the better for the republic. I believe in that: I believe that government can help. It 1s when the
government gets involved in the business of patronage that I am not very impressed. The
United States Government traditionally has been 1n the business of patronizing architecture.
and all one has to do 1s to go to Washington and lock around to understand the usual level of
mediocrity.

7 : IR AEE T F STl FIE HaE Tal B A 917 3 Tl ST H GF TEAT HeEd 2 3 e
# gaw @, T wia, G, Fm v a= e § g S ety @ w0 5 a=iE w8
FH TE 2| 3@ S U WEY UL UIcHTET % BEA U HT SAEYEE 2 GORR R O @Al gRI Feead
T, . FAL 9 TiEe, Fen e & e A smre ® 21 3 3 = 2, w9 T ontae e o
TN W TG FUHT R 2| 759 H AT ° 59 TR i AUiEE F 9o | 98 9ni ik g 2
St siferm % afad s TR % A ¥ = A we ¥ fow aawg 21 Awfen T sfos e e, = E
IS Bl e e O e A e i P b e et e A T e ol o B =
AT 2 T TR TH HEE ' Al 2| 9 TR TEW o HE H Afied w6l ¢ a1 3599 | sga T

Mark out the appropriate statement: The author

(1) is all for the continuation of the federal funding of the arts
(2) thinks that patronage and encouragement are one and the same
(3) would eliminate all bureaucracy out of his intense dislike for the bureaucrats
(4) believes that the government can be of some help in supporting the arts
(1) 1
(2) 2
3) 3

(4) 4




(1)  FensAl & == FHEE 5 AW T 7 weEE 2

(2) 1 fFER 2 F aEm va aieEed v A E e meE

(3) Al F U A9 A S F e @ TR S F 5
(4)  =F AFEl 7 6 BORR Fensll % HHIA % o0 B9 HeoTR B a6l

1)1
(2) 2
(3) 3
(4) 4
1[Option ID=12017]
2[Option ID=12018]

3[Option ID=12019]
4[Option ID=12020]

Sl. No.56
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Who revolutionized the use of oil painting and brought it to an early peak of perfection in
15t Century, thus often wrongly attributed as the inventor or the first user of oil paint.

(1) Bellini Brothers (2) Caraceci Brothers

(3) Van Eyck Brothers (4) None of these

(1) 1

(2) 2

(3) 3

(4) 4
frafafas & @ fee qa 90 & w@m 4 smE e B ot @ 159 96 5 e & s o
T, SHT WE: T 2 8 3% ded U % SATashdl 91 Y9H Y= & &9 9 SS9t A e
(1)  =fert =y (2) el Y
(3) A AEF Y (4) 39 & =i T8

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=12021]

2[Option ID=12022]

3[Option ID=12023]
4[Option ID=12024]

Sl. No.57
QBID:1075032

What is the meaning of Photo?

(1) Print (2) Light
(3) Dark (4) Impression




(1) 1
(2) 2
(3) 3
(4) 4

T2 S AT A T

(1 fm (2) T
(3) ¥ 4 Bm
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=12025]
2[Option ID=12026]
3[Option ID=12027]
4[Option ID=12028]
Sl. No.58
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Which Painter wrote Gitanjali?
(1) R.N. Tagore (2) N.L. Bose
(3) Amrita Shergil (4) Jamini Roy
(1) 1
(2) 2
(3) 3
(4) 4
eIeIhad | O E 9FE o a1 =41 ¢
(1) AR, TH. TR (2) T, TA., "E
(3) gl IR (4) SR T
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=12029]
2[Option ID=12030]
3[Option ID=12031]
4[Option ID=12032]

Sl. No.59
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Terracotta means

(1) Cracked Earth (2
(3) Melted Glass (4)
(1) 1
(2) 2
(3) 3
(4) 4

S | F w27

(1)  Zer o (2)
(3)  foerem ge sftam (4)
(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=12033]
2[Option ID=12034]
3[Option ID=12035]
4[Option ID=12036]

Burnt Wood
Fired Clay

A # vt fired
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The famous painting of Bani Thani belongs to

3

(1)
(3)

(2)
(1)

Kishangarh School of Painting

Mewar School of Painting

(1) 1
(2) 2
(3) 3
(4) 4

Jaipur School of Painting

Marwar School of Painting

wiag w1 =t fen (Famwen) Frfafaa & @ frow gafm 87

(1) T dfen w5 (
(3)  waTs Wfen T (
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=12037]
2[Option ID=12038]
3[Option ID=12039]
4[Option ID=12040]

.

g dfén wga
HRATS e T

)
4)
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The distance in the middle of two points is called

(1) Shape (2) Space
(3) Form (4) Line

(1) 1
(2) 2
(3) 3
(4) 4

31 fargadt % wem it gt =it Fw o 2

(1) H=T, (2) TgH
(3) =9 (4) @

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=12041]
2[Option ID=12042]

3[Option ID=12043]
4[Option ID=12044]

Sl. No.62
QBID:1075037

Which colours are used in Rajasthani miniature paintings?

(1) Pastel color (2) Water color

(3) 0il Paints (4) Tempera colors

(1) 1
(2) 2
(3) 3
(4) 4

(1)  u=a (TfH g ) o (2)

7

(3) A= U= 4 (fsgm) o

1)1
(2) 2
(3) 3
(4) 4
1[Option ID=12045]
2[Option ID=12046]

3[Option ID=12047]
4[Option ID=12048]
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What is the main subject of Raja Ravi Varma's paintings?

(1) Court life (2) Folk life
(3) Mythological Stories (4) Fairy Tales

(1) 1
(2) 2
(3) 3
(4) 4

T 1 awt fit Fammfat (9E) =1 g fawm = 2t

(1)  araEdl Sfaq (2) iR SAEw
(3)  Taufim wami (4) i

1) 1
2 2
(3) 3
(4) 4
1[Option ID=12049]
2[Option ID=12050]

3[Option ID=12051]
4[Option ID=12052]

Sl. No.64
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To which period do the cave paintings of Altamira belong?

(1) Renaissance period (2) Pre-historic period

(3) Byzantine period (4) Barogue period

1)1

(2) 2

(3) 3

(4) 4

Heew T 1 16 e, Fefafaa 9§ @ feg e 8 getag 27

(1)  IFSE Fd (2) TE-VfaETEE F
(3) GIER DT icare (4) SUF Fed
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=12053]
2[Option ID=12054]
3[Option ID=12055]
4[Option ID=12056]

Sl. No.65




QBID:1075040
Gothic art is famous for its

(1) Stained glass window (2) Collage and poster art

(3) Paper printing art (4) Fabric painting on costumes

(1) 1
(2) 2
(3) 3
(4) 4

Tiferer setl THefctiEd 9 & a1 form fammar & fou ufig 27

(1) @ &= T (2) T AR TR F
(3) RIS HEUT el (4) TR T AW 2
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=12057]
2[Option ID=12058]
3[Option ID=12059]
4[Option ID=12060]

Sl. No.66
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Given below are two statements : One is labelled as Assertion A and the other is labelled as
Reason R.

Assertion (A):  The Chicano Art Movement represents attempts by Mexican-American
artists to establish a unique artistic identity in the United States. Much of
the art and the artists creating Chicano Art were heavily influenced by
Chicano Movement (Kl Movimiento) which began in the 1960s,

Reason (R) : Chicano Movement art is only Mexican — American art which developed out
of necessity for a visual representation of the self-perceived socio-political
injustice that the movement was seeking out the change. The artist did
illustrations, theatre performances, stage shows to spread its message that
brings awareness to the issues at hand.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

(1) 1

(2) 2
(3) 3




(4) 4

= o 9 U T F ; uF SA9FYA (Assertion (A)) F EW § fafEgd # @1 780 3HF FAW (Reason (R))
HETH

ATHFA (A) TRl Fell AGeH SHH 0 G Feficn® Te9H H B0 0 % fou giFas -
FeAl W FATHE T4 1960 B 3R 70 foeben AEed (3 e giafme2r) gen st
oI 9

Frm (R) : TTFHT G el UHHTE HiGHF - FHR Bl 7 | =G ST EEE -
1, o e afafda a1 9ed & S5 WiaEn i s Aavasdl 9 et

Torter e T w2 = TR
W FUE F AAE °, A= 500 ST § O W S0 39 =A i

(1) (A) 3K (R) 51 ==l 7 310 (R), (A) =i &#1 ==awe 2
(2) (A ¥R (R) A TE E, |0 (R), (A) 1 78 = 76 2
(3) (A) TF 2, =i (R) o8 791 2
(4) (A =E FE 7, W@ (R) @R 2
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=12061]
2[Option ID=12062]

3[Option ID=12063]
4[Option ID=12064]

Sl. No.67
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(Given below are two statements : One 1s labelled as Assertion A and the other is labelled as
Reason R.
Assertion (A) ; Visual artists imposes instinctual emotions on to the external world.

Reason (R) : Because visual artist's unsatiated desires leads towards aesthetic manifest.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(1) (A) is not correct but (R) is correct




(1) 1
(2) 2
(3) 3
(4) 4

4= T e Tou e 2 U Wi (Assertion (A)) F =9 o Toftigd 2 TH 3% F0 (Reason (R))
HETH

AT (A) T FATHE S5F T T HEA-Fe= T B AT A 7
F1 (R) : FAIF T FATHE il AT Toa™ HeaadE Aq=atad f A7 0E Fl 5

I FUA F A 5, 49 T T TEeT § 6 99y 39T 3 H 949 i

(1) (A 3 (R)5F1 521 2 3 (R), (A) F1 981 =ame 2
(2)  (A) 3R (R) =M1 T 2, & (R), (A) 1 981 =men 98 2
(3)  (A)=al &, = (R) 981 771 2
4y (A =HE TE 2, @A (R) =91 7
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=12065]
2[Option ID=12066]

3[Option ID=12067]
4[Option ID=12068]
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Given below are two statements : One is labelled as Assertion A and the other is labelled as
Reason R.

Assertion (4): Making a Maquette is essential for a large size monumental sculpture for
the purpose of measurement.

Reason (R) : For the purpose of life size or larger life study, making maquette is also
essential.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3 (A) is correct but (R) is not correct

(4) (A) 15 not correct but (R) is correct

(1) 1
(2) 2




(3) 3
(4) 4

4= 71 w9 fgu e 2 w w7i9HeE (Assertion (A)) = =9 H feiigd # A AL 35 F0 (Reazon (R))

F (R) : A TR T e 9T P F T5vd 24 g9 391 0 eEeaE w2 2

I FYA & AT H, A 50 0w § 9 g98 39 39 1 99 Hian

(1) (A) 3% (R) =H1 T81 2 311 (R), (A) i TF1 =ame 2

(2) (A 3 (R) AT A E, @ (R), (A) 1 TE =wen 9= 2
(3) (A) Tt 2, =i (R) 991 721 2

(4)  (A)=H TE B, @ (R) &8 R

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=12069]
2[Option ID=12070]
3[Option ID=12071]
4[Option ID=12072]
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Given below are two statements :

Statement [ : Feminism in art has always sought to change the reception of
contemporary art and bring visibility to women within art history and
practice.

Statement [1 :  In line with the development of western civilization, art in the west has

been built upon white, patriarchal, capitalist values, and while women
artists have alwayvs existed, they have largely been omitted from
history.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement [ is correct but Statement I is incorrect
(4) Statement [ is incorrect but Statement 11 is correct
(1) 1
(2) 2
(3) 3

(4) 4




Hr= a1 weA fow o

Fod I1:  ufv=dl 9  [aF\ % 37959, a8 5§ Fel F1 590 7699, Hgee, SEn 5= w530
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(1) =HWEIARIITH 54 2

(2) FE I3 a5 55 2

(3) w2 1T 2, =T w2 10 30 7

(4) = [ 79 2, & %9E 1190 7

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=12073]
2[Option ID=12074]

3[Option ID=12075]
4[Option ID=12076]
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(Given below are two statements :

Statement [ :  Post-impressionists extended the use of vivid colors, thick application of
paint, distinctive brush strokes, and real-life subject matter and were
more inclined to emphasize geometric forms, distort forms for expressive
effect, and to use unnatural or arbitrary colors in their compositions.

Statement [1 : The term “Post-impressionism” was coined by art critic Robert Myron
Coates in 1920, it has been first used in Germany in 1919 in the
magazine Der Sturm regarding German Impressionism. In the United
States, Alfred Barr, was the first to use this term in 1929 in relation to
works by Wassily Kandinsky,

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement | and Statement II are correct
(2) Both Statement | and Statement 11 are incorrect
(3) Statement I is correct but Statement 11 is incorrect
(4) Statement I is incorrect but Statement I1 is correct
(1) 1
(2) 2

3) 3




(4) 4
= 2wy fRu o g .

FA 1 :  IW-NEEAEEA 3 SHhE T, U2 % e S, R g9, i aumd-Sfea & e #
WM ®i fawn wwm e s =nfida w9, sferasaae # fFFa w9 a9 1 g9l |
AT A1 AGET® TN & W T T 44 H TR AF 79w 7w A

FA I1:  ‘TH-UMEERE | TS A9 1920 H wel AEE Uae HEE hieH gl A T 91, $EE T4
TAWYH 9O W9 9% 6 HeM § = T2d Ut § 9 1919 H Al § fRe o oam dfaet
Sicz==hi =1 =S & S99 H 99 1929 H s 90 4 FHw § GaugH $EE 54 S )

T o F A 4, A G e # @ w96 Iy I # 99 Hia

(1) = 130 [ gea &
(2) A 13 1 gAT 5@
(3) == [ gca B, w0 1] 3mea &
(4)  Fu9 1 3EE g, A 99 (I8 &

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=12077]
2[Option ID=12078]

3[Option ID=12079]
4[Option ID=12080]

Sl. No.71
QBID:1075046

Given below are two statements :

Statement I :  Early modern architecture began at the turn of the 215t Century with
efforts to reconcile the principles underlying architectural design with
rapid technological advancement and the modernization of society.

Statement II :  Modern architecture developed as a result of social and political
revolutions. Others see modern architecture as primarily driven by
technological and engineering developments.

In the hight of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement IT is incorrect

(4) Statement I 1s incorrect but Statement II 1s correct
(1) 1

(2) 2




(3) 3
(4) 4

= 71 HE T e E

FE L: A WA S S WES F SRR % wY T e 3 wafied Egr

B F A & W ARE AgE e 219 w6 | amy ga

FoAI1:  TIAF T WEMAF U9 TSHGF HIAT % GO ST S 5e ST T #
T A MAEF T ° TR va At T O uiE 9ed 2

ST Y F AT §, A 150 T e 6 we I I =E i

(1)  =2F [ 3R I 5H &5e9 &

(2)  FA IR I 5A 38 &

(3)  wua [Hem 2, A #2159 2
(4)  F2A [ 579 2, A Fo [ 8T 7

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=12081]
2[Option ID=12082]

3[Option ID=12083]
4[Option ID=12084]

SI. No.72
QBID:1075047
Match List I with List IT :
List I List I1
(A) Biting () Mezzotint
{B) Addition (II) Lithography
()  Grinder (II) Acid
(D} Rocker (IV) Print

Choose the correct answer from the options given below :

(1) (A)-(L1T), (B)-(D), (C)-(1I), (D)-(IV)
(2) (A)-(I), (B)-(I1D), (C)-(IV), (D)-(11)
(3) (A)-(I1D), (B)-(IV), (C)-(I), (D)-(I)
(4) (A)-(I), (B)-(I1D), (C)-(IV), (D)-(11)

(1) 1
(2) 2
(3) 3
(4) 4




-1 W geEi-11 #1 e Fiaw

=11 =11
(A) T (I) =iz
(B) GArEA (I) >7waEm
(C)  Hwr /= (IIT) =7=e
(D) = (IV) =g
49 fou T fawel § § "9 I F =99 Firen

(1) (A)-(IIT), (B)-(I). (C)~(II). (D)-(IV)
(2) (A)-(I). (B)-(IID). (C)-(IV). (D)-(IT)
(3) (A)-(III). (B)-(IV). (C)-(II). (D)-(I)
(4) (A)-(I). (B)-(III). (C)-(IV). (D)-(IT)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=12085]
2[Option ID=12086]

3[Option ID=12087]
4[Option ID=12088]

Sl. No.73
QBID:1075048

Match List I with List 11 :

List I List I1
(A) Gupta Period (I} Lion Capital of Ashoka, National Emblem of India
(B) Kushan Period (II) Standing Budhha, Sarnath, 5% C. AD
(C) Shunga Period (III) Seated Budhha, Katra Mound, Mathura
(D) Maurvan Period (IV) Pushyamitra, Bharhut

Choose the correct answer from the options given helow :

(1) (A)-(D, (B)-(IV), (C)-(ID), (D)-(IV)
(2) (A)-(II), (B)-(III), (C)-(IV), (D)-(I)
(3) (A)-(LID), (B)-(D), (C)-(1I), (D)-(IV)
(4) (A)-(IV), (B)-(ID), (C)-(11I), (D)-(D)

(1) 1
(2) 2
(3) 3
(4) 4




T=1-1 % =19 G-I 1 foem Fifaw

-1 w111
(A) TEEE (I) =791k =1 Toeeawsis, wrdE T b
(B) FOH (II) =g =t @ aiqen, ey, s w67 3.9,
(C) TTT=hTe (IIT) =5 =i SSmz1 H g4, Fea Fe, 990
(D) wHEF (IV) T, wEd
4= f5u T e § § TE I #9199 Fie

(1) (A)-(I). (B)-(IV). (C)(II). (D)-(IV)
(2) (A)-(IT). (B)-(III). (C)-(IV), (D)-(I)
(3) (A)-(I1I). (B)«(I). (C)«(ID). (D)-(IV)
(4) (A)-(IV). (B)-(II). (C)-(III). (D)-(I)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=12089]
2[Option ID=12090]

3[Option ID=12091]
4[Option ID=12092]

Sl. No.74
QBID:1075049

Match List T with List IT :

List I List IT
(A) Meaning of Art (I) Bruno Munar
{(B) Dance of Shiva (IT) Ananda Coomaraswamy
(C) Ways of Seeing (ITI) Herbert Read
(D) Design as Art (IV) John Berger

Choose the correct answer from the options given below :

(1) (A)-(III). (B)«(I). (C)-(IL). (D)-(IV)
(2) (A)-(D). (B)-(II). (C)-(IV). (D)-(IIT)
(3) (A)-(ITT), (B)-(II}). (C)-(IV), (D)-(D)
(4) {A)-(D). (B)-(III). (C)-(IV). (D)-(IT)

(1) 1

(2) 2

(3) 3

(4) 4




T-1 % =19 gei-I1 #1 faem i

T=-1 THi-11
(A) T (D) 3790 1 THeeayeid, Yrdm 2 udE
(B) TR (I) =g i @S Ui, GRAY, St @6 5.9
(C) =T (IIT) =g =it sSmst $1 gid, Feu Fer, 7ga
(D) P (IV) Tt
4= fou o el 9 9 w8 3 #1999 i
(1) (A)-(I). (B)-(IV). (C)-(II). (D)-(IV)
(2} (A)-(II). (B)-(III). (C)-(IV). (D)-(I)
(3 (A)-(III). (B)-(I). (C)«(ID). (D)-(IV)
(4) (A)-(IV). (B)-(II). (C)-(III). (D)-(I)
(1) 1
(2) 2
(3) 3
@) 4
1[Option ID=12093]
2[Option ID=12094]
3[Option ID=12095]
4[Option ID=12096]
SI. No.75

QBID:1075050

Match List I with List IT :

(A)
(B)
(C)
(D)

List I
Expressionism
Impasto
Realism

Romanticism

Last IT
(I) Rembrandt
(Il Kandinsky
(ITI) Jean Jacques Rousseau
(IV) Gustave Courbet

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)
(1) 1
(2) 2
3) 3
(4) 4

(A)-(IT). (B)-(I). (C)-(IV). (D)-(IIT)
{A)-(IV). (B)(III). (C)-(II). (D)(I)
(A)-(ITT). (B)«(IV). (C)-(I). (D)-(IT)
(A)-(IV). (B)-(IL). (C)-(III). (D)-(I)




Tei1-1 % W g=i-11 1 e i

o1 T=-11
(A)  HA=ER (I T
0 (I) His==hi
(C) =dam (II) == S ==
(D) =EHEATAT (IV) TF;!EITIf‘sl'r?
4= fou o el © ° OF I # = A

(1) (A)-(IT), (B)-(I). (C)-(IV). (D)-(IIT)
(2) (A)-(IV). (B)-(IID). (C)-(I). (D)-(D)
(3) (A)-(III). (B)-(IV). (C)-(I). (D)-(I)
(4) (A)-(IV). (B)-(IL). (C)-(III). (D)-(I)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=12097]
2[Option ID=12098]

3[Option ID=12099]
4[Option ID=12100]

Sl. No.76
QBID:1075051

The famous film Mr. Smith goes to Washington' was directed by one of the following:

(1) Frank Capra (2) John Huston
(3) Billy Wilder (4) Elia Kazan

1)1
(2) 2
3) 3
(4) 4

whirg fhen ‘Tier forg = g anfdmea’ s & Tk gro Ffem < mwefi oft 7
(1) % = (2) o T
(3) faeht faest (4) ufern wu=
(1) 1

(2) 2

(3) 3
(4) 4

1[Option ID=12101]




2[Option ID=12102]
3[Option ID=12103]
4[Option ID=12104]

Sl. No.77
QBID:1075052

Orson Welles began his film career at the age of 25 with one of these film Masterpieces.

Identify

(1) Lawrence of Arahia (2) Citizen Kane

(3) Grapes of Wrath (4) Rear Window

(1) 1

(2) 2

(3) 3

(4) 4

A 95| 7 25 79 Fl TR °§ HEiEd W UF 305 (Hen FnHd & @y s TheH SfeHge $
(1)  =HE 3115 sl (2) Todism
(3)  TH ATF da (3d) (4)y T fa=i
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=12105]
2[Option ID=12106]
3[Option ID=12107]
4[Option ID=12108]

Sl. No.78
QBID:1075053

One of these films dealt with problem of Slavery in the USA in the 19" Century. Identify from
the film names shown below.
(1) Nixon (2) Amistad
(3) Seven Years in Tihet (4) Angela's Ashes
(1) 1
(2) 2
(3) 3
(4) 4

™ 8 uF fhew 19 wdl ° g v U § = gEa i gwen | "afda 21 A R o feew § o8
REEUE L

(1) T (2) ufiEeTs
(3) e 334 39 foeaa (4) Users uIE
(1) 1

(2) 2




(3) 3
(4) 4

1[Option ID=12109]
2[Option ID=12110]
3[Option ID=12111]
4[Option ID=12112]

Sl. No.79
QBID:1075054

The Late Thespian Raj Kapoor was the hero in one of the films listed below. This film was one
one of the first Indian films to be filmed abroad. Identify the film

(1) Paigham (2) Sangam

(3) Ganga Jumna (4) Jewel Thief

(1) 1

(2) 2

(3) 3

(4) 4

wita At TR A d R e | | R v | e i | o) 3z g | feenrd 9= arel
v AT Thedt d & v feen ot 39 fFew =i me=nfm)

(1) Tmm (2) =W

(3) W SHA (4) =& Fie
(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=12113]
2[Option ID=12114]
3[Option ID=12115]
4[Option ID=12116]

Sl. No.80
QBID:1075055

One of the films listed below which won the Golden Lotus for the best Indian film was
directed by Girish Kasarvalli. Identify the film

(1) Nayakan (2) Pratidwandi
(3) Thai Saheha (4) Bhumika
(1) 1

(2) 2

(3) 3

(4) 4




= =t @ fremi @ & v filfts e 3ot g Fafm e foem odass wwdia feew 2g e =iem

Eﬁl’(mmlﬂ e I AH Faru |

(1) A (2) iz
(3) o " (4) i

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=12117]
2[Option ID=12118]

3[Option ID=12119]
4[Option ID=12120]

Sl. No.81
QBID:1075056

Nikos Kazantzakis was the famous author who wrote the original novel for one of the films

listed below. This film was known for the controversy it raised. Identify the film

(1) Last Temptation of Christ (2) Goodbye Mr. Chips
(3) Amadeus {(4) The Longest Day

(1) 1
(2) 2
(3) 3
(4) 4

TF Wiig oEs e Feaaa A gdiag e | 8 v % o q@ s w5 o an a7 hew

Zr 33 U, fEEe & 99 | 9 &6 339 Teew = wEEii

(1) N2 F9eeA 31 HEe (2) Tz fim o
(3)  sifsa (4) zZaAE

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=12121]
2[Option ID=12122]

3[Option ID=12123]
4[Option ID=12124]

Sl. No.82
QBID:1075057

Balu Mahendra is the Director of this successful Hindi Remake of a famous South Indian
Film for which he was the Director too. Identify the Remake film from the list below:

(1) Paigham (2) Sadmaa
(3) Who Saat Din (4) Grahasti




(1) 1
(2) 2
(3) 3
(4) 4

A TeE W UF ihg S WAt Tren e 3 e 4, o3 fhen ® wee e 0w & e e A

(1) oTE (2)  TEE
(3) @ mmfE (4)  TEeht

1)1
(2) 2
3) 3
(4) 4
1[Option ID=12125]
2[Option ID=12126]

3[Option ID=12127]
4[Option ID=12128]

Sl. No.83
QBID:1075058

One of the films below was directed by the Legendary Alfred Hitcheock. Identify it from the
list below:
(1) Fistful of Dollars (2) Von Ryan's Express
(3) The Birds (4) 2001 — A Space Odyssey
1)1
(2) 2
(3) 3
(4) 4

UM FATFE A%S (59%1F oW =9 0 § U fhen = o B = oam 9 & = feemt & S|

EEEIE

(1) s A% s (2) =M =H TEETH
(3) c©wE=A (4) 2001-v =5 T

1)1
2 2
3) 3
(4) 4
1[Option ID=12129]
2[Option ID=12130]

3[Option ID=12131]
4[Option ID=12132]

Sl. No.84
QBID:1075059




Khayyam was known for his melodic music compositions. In one of these Hindi Classics from
the 80z he gave us some memorable songs. Select that film from the list below:
(1) Jaane Bhi Do Yaaron (2) Salaam Bombay

(3) Saaransh (4) Umrao Jaan

(1) 1
(2) 2
(3) 3
(4) 4

WM AT GER GG A T WH T A 80 79 i feal g wereml e 9 3=
TR Al =i F=M forn| = & i o=t 9 39 s =% T

(1) = i 51w (2) T=H =
(3) HEWE (4) IWE AE

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=12133]
2[Option ID=12134]

3[Option ID=12135]
4[Option ID=12136]

Sl. No.85
QBID:1075060

The filmmaker who placed India on the World map, Satyajit Ray's films were deeply human
and realistic. Which of Ray's films from the list below was made in colour?

(1) Apur Sansar (2) Nayak

(3) Ghare Bhaire (4) Jana Aranya
(1) 1

(2) 2

(3) 3

(4) 4

foen fmim e e # fava & oefa W s e, o) 9 1A e aed aeEE e n
Al 9| T F FeiRd 3 | - en ol e i ?

(1) YT AEN (2) =TF

(3) A (4) 4 3wog

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=12137]




2[Option ID=12138]
3[Option ID=12139]
4[Option ID=12140]

Sl. No.86
QBID:1075061

The term ‘HMTI' in the world of film lighting is an abbreviated short form. Choose the right
full form from this list below.

(1) Hydrogen Mercury lodide (2) Hydrargyrum Medium-Arc lodide

(3) Halogen Mega Intensity {(4) Hyperintense Medium-Arc Installation

(1) 1
(2) 2
(3) 3
(4) 4

frew msfén <t g & 97 “wm ww ond’ Wi g w9 R e o=t 7 9w ol = ogh -

(1) TESEH Tl AEEES (2) FEHSTIR HifEaq-31F AHEEs
(3)  Eeraa o et (4) wTEREeE HifsmH-3 T

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=12141]
2[Option ID=12142]

3[Option ID=12143]
4[Option ID=12144]

Sl. No.87
QBID:1075062

Documentary Cinemas in Europe and America has propelled the growth of Independent
Cinema. Here are some names of important documentary filmmakers. One of them made the
classic called ‘Nanook of the North'. Identify this filmmaker from the list below:

(1) D.A. Pennebaker (2) Albert Maysles

(3) Martin Scorsese {(4) Robert Flaherty

(1) 1

(2) 2

(3) 3

(4) 4

T 3R swieR | getaa 1 @ G i 3fg o m ser 21 98 $9 9w gea-faa Fwime =
am feu u B I @ fRdt o 4w @ 9 Tl feen ek e g st fafda R frenfea | @
34 frew fmian =i we=nfaw)

(1)  $hu d=eE (2) eae HEId
(3) Wi = (4) T2 v

(1) 1




(2) 2
(3) 3
(4) 4
1[Option ID=12145]
2[Option ID=12146]

3[Option ID=12147]
4[Option ID=12148]

Sl. No.88
QBID:1075063

We all know that Danny Boyle was the director of the Oscar winning ‘Slumdog Millionaire’.
But the film was co-directed by an Indian woman too. [dentify her from the list provided

below.
(1) Bhanu Athaiva (2) Sooni Taraporewala
(3) Lavleen Tandan {(4) Deepa Mehta

(1) 1
(2) 2
(3) 3
(4) 4

=9 ot A £ s e feen e Tl Fww 3 dme @ st 9 feew e o
A Hizer g Aa-TAarom o =i T o) Feed Tgen get @ 26 gwenn)

(1)  wg wd=n (2)  |HET ARERETE
(3) == 2= (4) S HEa

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=12149]
2[Option ID=12150]
3[Option ID=12151]
4[Option ID=12152]

Sl. No.89
QBID:1075064

This South Indian Superstar acted in several remakes of the Hindi films starring Amitabh
Bachchan. One of them was called “Thee’ (Fire). Identify this iconic actor from the list below.

(1) Kamal Haasan (2) Chiranjeevi
(3) Rajinikanth (4) Mamooty
(1) 1

(2) 2

(3) 3

(4) 4




Afgary s== g A =l et & %2 .M § o0 zfardE gueer 3 st B s 8 v
‘i’ () Fwr WA A F A T g | 3| s ATaar B gEe|

(1)  FaeemEd (2) T
(3) TG (4) Tl
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=12153]
2[Option ID=12154]
3[Option ID=12155]
4[Option ID=12156]

Sl. No.90
QBID:1075065

Hindi cinema has seen several duos coming forward as music composers. Study the list below
and identify the senior-most combination among them,.

(1) Laxmikant Pyarelal (2) Shanker Jaikishan

(3) Shiv Hart (4) Jatin Lalit

(1) 1
(2) 2
(3) 3
(4) 4

e =

el Toem 9 wffawn & 9 ° #E 39 (3337) 70 3| A= 3 T gt w9 w0 390 ° gaiaE s
TrH 1 TEETET

(1) FEHTE AR (2) T ST
(3) TEEl (4) Hlaq =ea
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=12157]
2[Option ID=12158]
3[Option ID=12159]
4[Option ID=12160]

Sl. No.91
QBID:1075066




Given below are two statements : One is labelled as Assertion A and the other is labelled as
Reason R.

Assertion (A) :

Reason (R) :

The Central Board of Film Certification started as the Censor Board in
1921 under the British rule. It was redrafted in 1952 but most of the
attitude towards sex, violence and state sovereignty remained the same.
Filmmakers continue to argue about the efficacy and relevance of the Board
while modern exhibition platforms like the internet and OTT don't ohserve
the rules. Has the board outlived itself?

It must be understood that the constitution provides all citizens freedom of
speech so long as the national security is not threatened. Many argue that
it should be left to the filmmakers and the audience to determine what is
harmful and dangerous and that the Board's role should be completely
minimal.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

F= 71 o U T E v e (Assertion (A)) F ¥ H {oT@e # A1 750 35 FEW (Reason (R))

Both (A) and (R) are correct and (R) is the correct explanation of (A)
Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(A) is correct but (R) is not correct

(A) 15 not correct but (R) is correct

FEIY

ATFH (A) :

1 (R) :

T34 TFe9 THUE @S fEEw WA % HEE 1921 3, UE 1S F F9 0 URY 537 41| T8
1952 H T9: WTEla T T Ty S5 sifasman staated /g 5w w1 T
AT % ufd =t 1 7= @) a3 arg i ama A (wEtwa W e

T 1S = IUFTNTA A 7 g A2 7

TH WEvE T ° THSA 2 6 g g9 A i G = 98 0% e il 2
i o T e A w2 A w3 e A 3w
T S G 2, T e 2 i e fis w st e s

I FOF F AF 1, A9 50 T FHed ¥ F w6 I I 99 Hian

(1)
(2)
(3)
(4)

(1) 1

(A) 3 (R) =H1 Tl 2 311 (R), (A) =i "8l = 2
(A) 31T (R) 51 T8l 7, == (R), (A) =i T2 =awe 74 =

(A) TE 2, Sl

(R) =t 721 #

(A) Tt 781 2, 9 (R) 981 2




(2) 2
(3) 3
(4) 4
1[Option ID=12161]
2[Option ID=12162]

3[Option ID=12163]
4[Option ID=12164]

Sl. No.92
QBID:1075067

Given below are two statements :

Statement I : Cinematography 1s an art form which 1s dominated by the amount of
technological knowledge and hands-on experience that the
cinematographer iz endowed with. She or he primarily bring in their
technical prowess and boost 1t with some artistic touch.

Statement II :  Some reason that the cinematographer brings in the wvision and look
that the final film must have. Therefore she or he must have robust
knowledge of art history and visual design so as to enrich their technical
slalls.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement IT are true

(2) Both Statement I and Statement II are false

(3) Statement I 1s true but Statement II 1s false
(4) Statement I 1s false but Statement IT 1= true
(1) 1
(2) 2
(3) 3

(4) 4




H= =1 %y e o

FoAL[: T Fel TG ET 2 A GEAE T O 7 F IS GR Al 2 A SETE 5 a9

£ 2| 7E T A9H A9 T B SOH 5d & 3T IW FeATHF S 2

Fo[ [I: 39 A0 SETHEE AM w0 § F a2 30 5@ 7 7% 90 55 (%569 ° 9 291 9] safey
FH FeAl SR AR T8 T T JTH BT AR A AT AT TRART F9 FHGE FAF

IYE A F A §, A 5w T fTwent § 9 59w I S # 9e Aie

(1) o9 I3 I = a5 7

(2) = 3R A =4 &
(3) A [=E &, @i #9177

(4) F4 1 e

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=12165]
2[Option ID=12166]

3[Option ID=12167]
4[Option ID=12168]

, ©feh Fe [T 2

Sl. No.93
QBID:1075068

(Given below are two statements :

Statement [

Statement [1

Film stars like Amitabh Bachchan, Rajinikant, Kamal Haasan and
Prabhas can be considered true patriots for they always place their
stories and messages above their selves. They are willing to sacrifice
their personal pleasures to serve and entertain the masses. Their
willingness to give away their wealth to charities is part of daily news
today.

The Indian film industry is essentially run by self-taught entrepreneurs
and artists. They write scripts and make films in very instinctive
manners and in the process commit a lot of mistakes. It is no wonder
that about 80% of Indian films are commercial disasters and that's
largely due to very unprofessional modes of executing their working
plans.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement 11 are incorrect
(3) Statement [ is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement 11 1s correct

(1) 1




(2) 2
(3) 3
(4) 4
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RS 7Y A9 I gE-gEest & e 3=l Ugd B SR A9 99 B 5H o S=a
Tiated F gEE # EE w2l 2

e 11 qAE THeH —':m“ =-Tofem senfmEn 3T FoEnl gRT 9ea: TEEd B 2| ° 95 TEA 9
nmmw mmméﬂvﬁﬂﬁﬁnﬁmﬂﬁﬂwnrmﬁﬁ
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(1)  =F [ ¥R [ gA 99 7

(2) = I #R I GH Ted B

(3) A 1931 2, @A 949 I 7Ted 2

(4)  FoE 7= 2, @ e [Ioe 7

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=12169]
2[Option ID=12170]
3[Option ID=12171]
4[Option ID=12172]
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Given below are two statements :

Statement [ :  According to some critics Satyajit Ray's films showed the poverty of
India and focused only on the rural aspects of India. They question as to
how a filmmaker who lives in the city as an upper-class person can
identify with villages and poverty.

Statement [1 :  Some others argue that cinema is an international art form and anyone
with interest and dedication to learn the art and craft can go on to make
films on any subject. In any case, what is required serious research and
involvement in the aspects of the subject that concern the story.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement I1 are false
(3) Statement I is true but Statement 11 is false
(4) Statement [ is false but Statement II iz true

(1) 1
(2) 2
(3) 3
(4) 4
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(1) w4 | 3 [1 57 9o &
(2)  wF 13 11 2AT 339 8
(3)  wuA 19 7, A oA [ 3 &
(1) FHIyEAR aFRIITEE

1)1
(2 2
3) 3
(4) 4
1[Option ID=12173]
2[Option ID=12174]

3[Option ID=12175]
4[Option ID=12176]
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(Given below are two statements :

Statement [ :  Cinema is primarily a silent visual medium. When sound was added on
many filmmakers believed that cinema had lost its charm and real
meaning because cinema was meant to be shown and not told to the
audience.

Statement [T : (Cinema became popular only when it borrowed significantly from the
art of dramatic theatre where speaking was essential. Yet cinema is not
theatre for it can borrow from other arts like music dance and
architecture.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement 11 are correct
(2) Both Statement I and Statement IT are incorrect
(3) Statement I is correct but Statement I is incorrect
i(4) Statement [ is incorrect but Statement I is correct
(1) 1
(2) 2
(3) 3
(4) 4
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(1) w2 [ ¥R [ oA =& 7
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(3) A 19# 2, @A w94 I 7ea 2

(4) A [ 7, el w2

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=12177]
2[Option ID=12178]




3[Option ID=12179]
4[Option ID=12180]
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Match List I with List IT :

List I List IT
(A) Anthony Burgess (I) Color Purple
(B) EKen Kesey (II) 1984
(C) George Orwell (IITy Omne flew over the Cuckoo’s nest.
(D) Alice Walker (IV) Clockwork Orange

Choose the correct answer from the options given below :

(1) (A)-(IV). (B)-(IID. (C)-(II). (D)-(I)
(2) (A)-(I). (B)-(IL). (C)-(IV). (D)-(IIL)
(3) (A)-(ITT). (B)-(IT). (C)-(I). (D)-(IV)
(4) (A)-(IT). (B)-(III}). (C)-(IV), (D)-(I)
(1) 1
(2) 2
(3) 3
(4) 4

TE-1 % =19 g1 F foers e

I T-I1
(A)  UyH wE (I) Fe 0
(B) 4 #H (I) 1934
(C) =TSt AR (IIT) =7 fFerg =7 T F99 %=
(D) wfes amE (IV) Fe1F % A0
4= oo o faweal § O w8 I #1999 i

(1) (A)-(IV). (B)-(III). (C)-(II). (D)-(T)
(2) (A)-(D). (B)(II). (C)-(IV). (D)-(I1IT)
(3) (A)-(IIT). (B)-(IL). (C)-(I). (D)-(IV)
(4) (A)-(IT). (B)-(III). (C)-(IV). (D)-(I)

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=12181]
2[Option ID=12182]




3[Option ID=12183]
4[Option ID=12184]
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Match List I with List IT :

List I List IT
(A) Agneepath (Iy 1970
(B) Heyv Ram (II) 1980

(C) Hirak Rajar Deshe (III) 1990
(D) Johny Mera Naam (IV) 2000

Choose the correct answer from the options given below :

(1) (A)-(I1I), (B)-(II), (C)-(I), (D)-(IV)
(2) (A)-(IV), (B)-(II), (C)-(I), (D)-(III)
(3) (A)-(III). (B)-(IV). (C)-(II). (D)-(I)
(4) (A)-(I). (B)-(II), (C)-(IV), (D)-(III)

(1) 1
(2) 2
(3) 3
4) 4
=1 o =1 F-1T 1 e Fifee .
-1 11
(A) &AfIY I) 1970
(B) =W (IT) 1980
(C) F= TSR =3 (ITT) 1990
(D) T " A (IV) 2000

= fou o el § & @1 s %1 == fife

(1) (A)-(III), (B)-(II), (C)-(D), (D)-(IV)
(2) (A)-(IV), (B)-(II), (C)-(I), (D)-(III)
(3) (A)-(III). (B)-(IV). (C)-(II). (D)-(I)
(4) (A)-(I), (B)-(II), (C)-(IV), (D)-(III)




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=12185]
2[Option ID=12186]

3[Option ID=12187]
4[Option ID=12188]
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Match List I with List II ;

List I
(A) Alira Kurosawa
(B) Mizoguchi Kenji
{C) Yasihiro Ozu
(D) Nagisa Oshima

List II
(I} Death by Hanging
(I} Seven Samurai

(III) Ugetsu Monogatari
IV} Autumn Afternocon

Choose the correct answer from the options given below :

(1) (A)-(LIT), (B)-(IV), (C)-(T). (D)-(1T)

—

(3

2) (A)-(ID), (B)-(I1I), (C)-(IV), (D)-(I)
) (A)-(IV), (B)-(I), (C)-(I11), (D)-(IL)
(4) (A)-(11), (B)-(I). (C)-(111), (D)-(IV)

(1) 1
(2) 2
(3) 3
(4) 4
H1-1 % | g=-11 1 faem Fifs
T w11
(A) T FAEE ) 2o« #im
(B) Tt =t (1) & T
(C) =msiifedr =7 (ITT) Zreg wHTETT
(D) AvfEn st (IV) =fen s/
fre fau o el # @ \E I F =9E Fib

(1) (A)-IID, (B)-IV), (C)-(D), (D)-(1L)
(2) (A)-(ID), (B)-(I1I), (C)-(IV), (D)-(I)
(3) (A)-(IV), (B)-(I), (C)-(11L), (D)-(1I)
(4) (A)-(1T), (B)-(I), (C)-(11I), (D)-(IV)

(1) 1
(2) 2
(3) 3




(4) 4

1[Option ID=12189]
2[Option ID=12190]
3[Option ID=12191]
4[Option ID=12192]

Sl. No.99
QBID:1075074

Match List I with List IT :

List I Last II
(A) Shankar () Guide
(B) Aparna Sen (II) Monsoon Wedding
(C) Vyay Anand (ITI) Gentleman
(D) Meera Nair (IV) 36 Chowringee Lane

Choose the correct answer from the options given below :

(1) (A)-(IT), (B)-(I). (C)-(IID). (D)-(IV)
(2) (A)-(IV). (B)-(IID). (C)-(I). (D)-(D)
(3) (A)-(IV). (B)-(IL). (C)-(I). (D)-(IIT)
(4) (A)-(IIT). (B)-(IV). (C)~«(I). (D)-(ID)

(1) 1

(2) 2

(3) 3

(4) 4

-1 WY g1 # e A

oI F=1-11
(A) = () TEs
(B) =9un &= (II) H=ET At
(C) Tasm #1rg (IIT) S=zereq
(D) T AR (IV) 36 S =F
4= fou o fawedl € O w8 I w1 =9e i

(1) (A)-(IT). (B)-(I). (C)-(IIT). (D)-(IV)
(2) (A)-(IV). (B)-(I1T). (C)-(ID). (D)-(I)
(3) (A)-(IV). (B)-(II). (C)-(I). (D)-(III)
(4) (A)-(IIT). (B)-(IV). (C)-(I). (D)-(IT)
(1) 1
(2) 2
(3) 3




(4) 4

1[Option ID=12193]
2[Option ID=12194]
3[Option ID=12195]
4[Option ID=12196]
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(Given below are two statements :

Statement [ :  Because of a very strong urban working-class movement world cinema
focused on the industrial workers as their main audience. By default, a
lot of writers who sympathized with labour issues were recruited so that
they could write stories which could communicate with the masses. But
the government saw this as a dangerous incursion from communist
sympathizers and sought to curb it at many levels.

Statement [1 :  In a colonized nation like India, the local capitalists were willing to pour
in their wealth and encourage Indian filmmakers to make films against
the British administration. Producers were willing to go to jail and
suffer hardships so that their country would win freedom against the
OpPerssors.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement 11 are correct
(2) Both Statement I and Statement I1 are incorrect
(3) Statement [ is correct but Statement I1 is incorrect
(4) Statement [ is incorrect but Statement I1 is correct
(1) 1
(2) 2
(3) 3

(4) 4
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(1) =FRIARIEA T3 2

(2)  FE I #AR [ 5A 500 2

il

(3)  =oa [oew 2, A F2A I 3790

mp

(4) w379 2, =i ®94 11 90

1)1
(2) 2
3) 3
4) 4
1[Option ID=12197]
2[Option ID=12198]

3[Option ID=12199]
4[Option ID=12200]




